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Attempt the following:

(a) Show how Return on Investment (Ratio) is key to
integrated ratio analysis in as much as it integrates

profitability and efficiency ratios? (7Y,

(b) Describe briefly the term 'consumer behaviov'?(7%)

OR

Answer the following: l\
(a) Describe briefly the issues involved in management of

cash. (7%)

(b) Discuss the meaning of entrepreneurial self-renewal.
(7%)
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same medium should be used throughout the paper.
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1 Following is the extract of transactions of Pratee\
Traders in respect of Atul Narayan, a supplier and Charu

Chandra, a customer. Enter these transactions in their
accounts and find out the balance due to / from Atul
Narayan and Charu Chandra respectively. (15)

Amount(Rs.)

75,000

17,800

2W

Find out

OR

(a) M/s XYZ's Cash Book showed a different balance in
its Bank Column after comparing with the Bank Passbook
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State the characteristics of management of human resources

in small business. Discuss the ways in which small

businbsses might attract and retain talent. (15)

OR

"Product life cycle implies that the entrepreneur should

continually innovate so as to remain forever in growth

stage." Elaborate this statement by drawing and labelling
the various stages in the product life cycle. (15)
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2004 Transactions

lan.2 Purchased goods from

Atul Narayan

Jan.5 Returned goods to Atul Narayan 3,000

Part Payment to Atul Narayan 15,000

lan.7 Cash Sales 45,000

Jan.8 Sold goods to Charu Chandra 45,000

Jan.9 Goods returned by Charu Chandra 2,000

Charu Chandra pays

Discount allowed.

Jan. l7 Charu Chandra makes the full
and final payment of the

balance due from her
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Distinguish between the following

(a) Trial Balance and Balance Sheet

(b) Fixed Assets and Current Assets
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Clarify the meanings of sales & distribution management.

The self-employed person who procures biscuits, rusks. bu1

and marthi (Salted pancake) from bakery. loads the sack-

full on his moped and supplies these to roadside tea stalls

of a defined territory, in your view is a sales man or a 
t'

distributor? Give reasons for your answer

OR

Clarify the meaning of consortium marketing

utility for small businesses.

(1s)

as on 3lst July 2015. Prepare a Bank Reconciliation

statement considering the following transactions occrued

during the Month of July 2015.

(i) Balance as per cash Book as on 1-7-2015 Rs

3,08,600.

(ii) Cheques issued as on l5-07-2015 but not yet

presented for payment Valuing for Rs. 20,000/-

(iii) Cheques valuing for Rs. 35,000/- were directly
deposited by a debtor to the Bank without giving

inforn,ation to our A/c Department.

(iv) Cheques deposited but not yet credited by the

banker Rs. 40,800/-

(v) General utility bills were directly paid by the bank

as per given directions Rs. 8,200/-

(vi) Interest charged by bank Rs. 400/-

(vii) Income Tax Refund was directly credited into the

bank Rs. 30,000/- ( 10)

(b) Distinguish between Cash Account and Cash Book.
(s)
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2. Explain the following :

(a) Impact of cheques issued entered in the Bank Column
of the Cash Book but not presented for payment on the
respective balances shown by Cash Book and pass Book.

('7',/,)

(b) Impact of Debt: Equity ratio = 2:l (that is debt is two
times the equity) on a firm's long term solvency. (7%)
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